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1. Feladat 

 

G = 6 kN,     Q = 10 √2 kN 

 

I.rendszer: 

 

 

II.rendszer: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

2. Feladat 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
AC mező (1-1 metszet) 

 
 

 

DA mező (2-2 metszet) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

BD mező (3-3 metszet) 

 
 

A könnyű átnézés érdekében: 

 

Axiális erők: 

 
Nyíró erők: 

 

 
Hajlító nyomatékok 
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3. Feladat 

 



 

 

 
 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


